

OPTIMAL INVESTMENT WITH TRANSACTION COSTS AND STOCHASTIC
VOLATILITY PART II: FINITE HORIZON

MAXIM BICHUCH * AND RONNIE SIRCAR †

1. Appendix. We now show the verification theorem that the value function \widehat{V} is a viscosity solution of [1] eq. (2.8). The proof is divided into the following three lemmas:

LEMMA 1.1. *The value function \widehat{V} is continuous function on $[0, T] \times \bar{\mathcal{S}} \times \mathbb{R}$.*

Proof. The continuity in the (x, y) variables follows from concavity in the same way as in [4] in Corollaries 3.2, 5.5 and 5.8. For the continuity in time t , note that it is the same as continuity in terminal time T . Clearly, the integral term in [1] eq. (2.5) is continuous. Regarding the second term $\mathcal{U}(\text{Liq}(X_T, Y_T))$, note that the same admissible strategy (C, L, M) that liquidates the position at time T and consumes nothing after that, can be used for longer maturity $T + \Delta T$, for $\Delta T > 0$. Thus \widehat{V} is upper semi-continuous in T . The lower semi-continuity of \widehat{V} follows from the the lower semi-continuity of the process $\text{Liq}(X, Y)$.

The continuity in the z variable, is the result of stability of strong solutions. Fix (t_0, x_0, y_0, z_0) such that $(x_0, y_0) \in \mathcal{S}$ and $\varepsilon_0 > 0$. For $|z - z_0| < 1$, let $(C^{(t_0, x_0, y_0, z)}, L^{(t_0, x_0, y_0, z)}, M^{(t_0, x_0, y_0, z)})$ be a nearly-optimal admissible strategy, such that

$$\widehat{V}(t_0, x_0, y_0, z) - \mathbb{E}_{t_0}^{x_0, y_0, z} \left[\int_{t_0}^T e^{-\nu(s-t_0)} \mathcal{U} \left(C_s^{(t_0, x_0, y_0, z)} \right) ds + e^{-\nu(T-t_0)} \mathcal{U}(\text{Liq}(X_T, Y_T)) \right] < \varepsilon_0.$$

Then, $\left\{ \int_{t_0}^T e^{-\nu(s-t_0)} \mathcal{U} \left(C_s^{(t_0, x_0, y_0, z)} \right) ds + e^{-\nu(T-t_0)} \mathcal{U}(\text{Liq}(X_T, Y_T)) \right\}_{(t_0, x_0, y_0, z)}$ is uniformly integrable, since it is dominated by zero transaction costs value function, which is shown by [3] to be continuous. Hence, let $\delta_0 > 0$ be such that $(x_0 + \frac{\delta}{1-\lambda}, y_0) \in \mathcal{S}$, and that any A satisfying $\mathbb{P}(A) > 1 - \delta_0$ we have that

$$\widehat{V}(t_0, x_0, y_0, z) - \mathbb{E}_{t_0}^{x_0, y_0, z} \left[\mathbb{I}_A \int_{t_0}^T e^{-\nu(s-t_0)} \mathcal{U} \left(C_s^{(t_0, x_0, y_0, z)} \right) ds + e^{-\nu(T-t_0)} \mathcal{U}(\text{Liq}(X_T, Y_T)) \right] < 2\varepsilon_0.$$

Next, from a calculation similar to the classical result of strong solution (see [2] Theorem 9.2.1) it follows that $\mathbb{E}_{t_0} [\sup_{t_0 \leq s \leq T} \|(Y_s^{y_0}, Z_s^{z_0}) - (Y_s^{y_0}, Z_s^z)\|^2] < (1 - \delta_0)\delta_0$ for (possibly even smaller) $\delta_0 > 0$. It follows that there exists a set $A_0 = A_0^{(y_0, z)}$, such that $\mathbb{P}(A_0) > 1 - \delta_0$, and $\sup_{t_0 \leq s \leq T} \|(Y_s^{y_0}, Z_s^{z_0}) - (Y_s^{y_0}, Z_s^z)\|^2 < \delta_0$ on A_0 . Using the fact that

$$Y_t = Y_{t_0} e^{(\mu+r)(t-t_0) - \frac{1}{2} \int_{t_0}^t f^2(Z_s) ds + \int_{t_0}^t f(Z_s) dB_s^1} + \int_{t_0}^t e^{(\mu+r)(t-u) - \frac{1}{2} \int_u^t f^2(Z_s) ds + \int_u^t f(Z_s) dB_s^1} (dL_u - dM_u),$$

It follows that there exists some $\delta_1 > 0$, such that using the control $(C^{(t_0, x_0, y_0, z)}, L^{(t_0, x_0, y_0, z)}, M^{(t_0, x_0, y_0, z)})$ we have that $\text{Liq}(X_t^{x_0 + \delta_1}, Y_t^{y_0, z_0}) \geq \text{Liq}(X_t^{x_0}, Y_t^{y_0, z})$, for all $t \in [t_0, T]$. Moreover, δ_0 can be chosen small enough, so that $(x_0 + \delta_1, y_0) \in \mathcal{S}$, and thus the control $(C^{(t_0, x_0, y_0, z)}, L^{(t_0, x_0, y_0, z)}, M^{(t_0, x_0, y_0, z)})$ is also admissible for the starting point $(t_0, x_0 + \delta_1, y_0, z_0)$. Thus,

$$\begin{aligned} \widehat{V}(t_0, x_0, y_0, z) - 2\varepsilon_0 &< \mathbb{E}_{t_0}^{x_0, y_0, z} \left[\mathbb{I}_{A_0} \int_{t_0}^T e^{-\nu(s-t_0)} \mathcal{U} \left(C_s^{(t_0, x_0, y_0, z)} \right) ds + e^{-\nu(T-t_0)} \mathcal{U}(\text{Liq}(X_T, Y_T)) \right] \\ &\leq \mathbb{E}_{t_0}^{x_0 + \delta_1, y_0, z_0} \left[\mathbb{I}_{A_0} \int_{t_0}^T e^{-\nu(s-t_0)} \mathcal{U} \left(C_s^{(t_0, x_0, y_0, z)} \right) ds + e^{-\nu(T-t_0)} \mathcal{U}(\text{Liq}(X_T, Y_T)) \right] \\ &\leq \widehat{V}(t_0, x_0 + \delta_1, y_0, z_0), \end{aligned}$$

* Department of Applied Mathematics & Statistics, Johns Hopkins University, Baltimore, MD 21218, USA mbichuch@jhu.edu. Work partially supported by NSF grant DMS-0739195, and by the Acheson J. Duncan Fund for the Advancement of Research in Statistics.

† Department of Operations Research and Financial Engineering, Princeton University, Princeton, NJ 08544, USA sircar@princeton.edu. Work partially supported by NSF grant DMS-1211906.

37 Similar calculation implies

$$38 \quad \widehat{V}(t_0, x_0 - \delta_1, y_0, z_0) - 2\varepsilon_0 \leq \widehat{V}(t_0, x_0, y_0, z) \leq \widehat{V}(t_0, x_0 + \delta_1, y_0, z_0) + 2\varepsilon_0.$$

40 The continuity of \widehat{V} in the z variable, now follows from its continuity in the x variable. \square

41 We note that similar to Proposition 3.5 of [4] we have that

42 *Remark 1.2.* Let $(x_0, y_0), (x, y) \in \overline{\mathcal{S}}$ be two points, such that (x, y) can be reached from (x_0, y_0) by a
43 trade. Then $\widehat{V}(t_0, x_0, y_0, z_0) \geq \widehat{V}(t_0, x, y, z_0)$, for any $t_0 \in [0, T]$ and $z_0 \in \mathbb{R}$.

44 We now show that the value function \widehat{V} is a viscosity solution of the HJB equation. This proof follows
45 along the lines of the proof of Lemmas 7.8 and 7.9 of [4]. We also divide our proof into two parts:

46 LEMMA 1.3. *The value function \widehat{V} is a viscosity supersolution of [1] eq. (2.8) on $[0, T] \times \mathcal{S} \times \mathbb{R}$.*

47 *Proof.* Let $(t_0, x_0, y_0, z_0) \in [0, T] \times \mathcal{S} \times \mathbb{R}$ and smooth ϕ satisfying $\phi \leq \widehat{V}$ and $\phi(t_0, x_0, y_0, z_0) =$
48 $\widehat{V}(t_0, x_0, y_0, z_0)$. Then for $\delta_0 > 0$ sufficiently small, such that $(t_0, x_0 - (1 + \lambda)\delta_0, y_0 + \delta_0, z_0) \in [0, T] \times \mathcal{S} \times \mathbb{R}$,
49 then from Remark 1.2 we have that

$$50 \quad \begin{aligned} & \phi(t_0, x_0, y_0, z_0) - \phi(t_0, x_0 - (1 + \lambda)\delta_0, y_0 + \delta_0, z_0) \\ 51 & \geq \widehat{V}(t_0, x_0, y_0, z_0) - \widehat{V}(t_0, x_0 - (1 + \lambda)\delta_0, y_0 + \delta_0, z_0) \geq 0 \end{aligned}$$

53 Thus, dividing by δ_0 and letting $\delta_0 \rightarrow 0$ and it follows that $(1 + \lambda)\phi_x - \phi_y \geq 0$. Similarly, it can be concluded
54 that $-(1 - \lambda)\phi_x + \phi_y \geq 0$.

55 To show that $-(\partial_t + \mathcal{D}^\varepsilon)\phi - \tilde{\mathcal{U}}(\phi_x) \geq 0$, let $\varepsilon_0 > 0$ be such that $\{(x, y) \mid |x - x_0| \leq \varepsilon_0, |y - y_0| \leq \varepsilon_0\} \subset \mathcal{S}$.
56 For $c > 0$ let (an admissible) strategy be given by $(0, 0, c)$, i.e. the strategy $L = M = 0, C = c$, for all times
57 $t_0 \leq t \leq \tau$, where $\tau = \varepsilon_0 \wedge \inf\{t_0 \leq t \leq T \mid |X_t - x_0| > \varepsilon_0, \text{ or } |Y_t - y_0| > \varepsilon_0\}$. Then

$$58 \quad \phi(t_0, x_0, y_0, z_0) = \mathbb{E}_{t_0} \left[e^{-\nu(\tau - t_0)} \phi(\tau, X_\tau, Y_\tau, Z_\tau) - \int_{t_0}^\tau e^{-\nu(s - t_0)} ((\partial_t + \mathcal{D}^\varepsilon - c\partial_x)\phi) ds \right]$$

60 From the dynamic programming principle it follows that

$$61 \quad \begin{aligned} \widehat{V}(t_0, x_0, y_0, z_0) & \geq \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} \mathcal{U}(c) ds + e^{-\nu(\tau - t_0)} \widehat{V}(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) \right] \\ 62 & \geq \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} \mathcal{U}(c) ds + e^{-\nu(\tau - t_0)} \phi(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) \right] \\ 63 & = \widehat{V}(t_0, x_0, y_0, z_0) - \mathbb{E}_{t_0} \left[\int_{t_0}^\tau e^{-\nu(s - t_0)} ((\partial_t + \mathcal{D}^\varepsilon - c\partial_x)\phi + \mathcal{U}(c)) ds \right]. \quad \square \end{aligned}$$

65 Thus $\mathbb{E}_{t_0} \left[\int_{t_0}^\tau e^{-\nu(s - t_0)} ((\partial_t + \mathcal{D}^\varepsilon - c\partial_x)\phi + \mathcal{U}(c)) ds \right] \geq 0$. So we must have $(\partial_t + \mathcal{D}^\varepsilon - c\partial_x)\phi + \mathcal{U}(c) \geq 0$
66 in some neighborhood of (t_0, x_0, y_0, z_0) . Letting $\varepsilon_0 \rightarrow 0$ and minimizing over $c > 0$ we obtain $-(\partial_t +$
67 $\mathcal{D}^\varepsilon)\phi(t_0, x_0, y_0, z_0) - \tilde{\mathcal{U}}(\phi_x(t_0, x_0, y_0, z_0)) \geq 0$.

68 LEMMA 1.4. *The value function \widehat{V} is a viscosity subsolution of [1] eq. (2.8) on $[0, T] \times \mathcal{S} \times \mathbb{R}$.*

69 *Proof.* Let $(t_0, x_0, y_0, z_0) \in [0, T] \times \mathcal{S} \times \mathbb{R}$ and smooth ϕ satisfying $\phi \geq \widehat{V}$ and $\phi(t_0, x_0, y_0, z_0) =$
70 $\widehat{V}(t_0, x_0, y_0, z_0)$. We prove the subsolution property by contradiction. Assume that

$$71 \quad \min \left\{ -(\partial_t + \mathcal{D}^\varepsilon)\phi - \tilde{\mathcal{U}}(\phi_x), ((1 + \lambda)\partial_x - \partial_y)\phi, (\partial_y - (1 - \lambda)\partial_x)\phi \right\} \leq 0$$

73 does not hold. By continuity of ϕ it means that for some $\varepsilon_0 > 0$ small enough, we have that on the
74 set $H = \{(t, x, y, z) \mid |x - x_0| < \varepsilon_0, |y - y_0| < \varepsilon_0, |z - z_0| < \varepsilon_0, t_0 \leq t < (t_0 + \varepsilon_0) \wedge T\}$ we have that
75 $\min \left\{ -(\partial_t + \mathcal{D}^\varepsilon)\phi - \tilde{\mathcal{U}}(\phi_x), ((1 + \lambda)\partial_x - \partial_y)\phi, (\partial_y - (1 - \lambda)\partial_x)\phi \right\} \geq \delta_0$ for some $\delta_0 > 0$. Set $\tau = \inf\{t \geq$
76 $t_0, |X_t - x_0| \geq \varepsilon_0, |y - y_0| \geq \varepsilon_0, |z - z_0| \geq \varepsilon_0\}$. By [1] Remark 1.2 we may also assume that $(\tau, X_\tau, Y_\tau, Z_\tau)$ is

77 on the boundary of H , as any discontinuity can happen only due to trading. Then by dynamic programming
78 principle for $t_0 \leq t \leq T$:

$$\begin{aligned}
79 \quad (1.1) \quad & \phi(t_0, x_0, y_0, z_0) \\
80 \quad & = \mathbb{E}_{t_0} \left[e^{-\nu(t \wedge \tau - t_0)} \phi(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) - \int_{t_0}^{t \wedge \tau} e^{-\nu(t \wedge \tau - t_0)} ((\partial_t + \mathcal{D}^\varepsilon - C_s \partial_x) \phi) ds \right] \\
81 \quad & + \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} ((1 + \lambda) \partial_x - \partial_y) \phi dL_s + \int_{t_0}^{t \wedge \tau} (\partial_y - (1 - \lambda) \partial_x) \phi dM_s \right] \\
82 \quad & \geq \mathbb{E}_{t_0} \left[e^{-\nu(t \wedge \tau - t_0)} \widehat{V}(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) - \int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} ((\partial_t + \mathcal{D}^\varepsilon) \phi - \tilde{\mathcal{U}}(\phi_x)) ds \right] \\
83 \quad & - \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} (\tilde{\mathcal{U}}(\phi_x) - C_s \phi_x) ds \right] \\
84 \quad & + \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} ((1 + \lambda) \partial_x - \partial_y) \phi dL_s + \int_{t_0}^{t \wedge \tau} (\partial_y - (1 - \lambda) \partial_x) \phi dM_s \right] \\
85 \quad & \geq \mathbb{E}_{t_0} \left[e^{-\nu(t \wedge \tau - t_0)} \widehat{V}(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) + \int_{t_0}^{t \wedge T} e^{-\nu(s - t_0)} \mathcal{U}(C_s) ds \right] \\
86 \quad & + \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} (\tilde{\mathcal{U}}(\phi_x) + C_s \phi_x - \mathcal{U}(C_s)) ds \right] + \delta_0 e^{-\nu(T - t_0)} \mathbb{E}_{t_0} [t \wedge \tau + L_{t \wedge \tau} + M_{t \wedge \tau}] \\
87 \quad & \geq \kappa(t) + \mathbb{E}_{t_0} \left[e^{-\nu(t \wedge \tau - t_0)} \widehat{V}(t \wedge \tau, X_{t \wedge \tau}, Y_{t \wedge \tau}, Z_{t \wedge \tau}) + \int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} \mathcal{U}(C_s) ds \right], \\
88 \quad &
\end{aligned}$$

89 where

$$\begin{aligned}
90 \quad \kappa(t) = & \inf_{(C, L, M) \in \mathcal{A}(t_0, x_0, y_0, z_0)} \left\{ \mathbb{E}_{t_0} \left[\delta_0 e^{-\nu(T - t_0)} (t \wedge \tau + L_{t \wedge \tau} + M_{t \wedge \tau}) \right. \right. \\
91 \quad & \left. \left. + \int_{t_0}^{t \wedge \tau} e^{-\nu(s - t_0)} (\tilde{\mathcal{U}}(\phi_x) + C_s \phi_x - \mathcal{U}(C_s)) ds \right] \right\} \\
92 \quad &
\end{aligned}$$

93 where the infimum above is taken over all admissible strategies, for which $(\tau, X_\tau, Y_\tau, Z_\tau)$ is on the boundary
94 of H . Maximizing the right-hand side of (1.1) over admissible strategies, we obtain that

$$95 \quad \phi(t_0, x_0, y_0, z_0) \geq \kappa(t) + \phi(t_0, x_0, y_0, z_0).$$

97 We will now obtain contradiction by showing that $\kappa(t) > 0$ for $t > 0$ sufficiently small.

98 Using Doob's maximal inequality we obtain that for $\delta_1 > 0$

$$99 \quad \mathbb{P} \left(\max_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1 \geq \delta_1 \right) \leq \frac{4}{\delta_1^2} \mathbb{E}_{t_0} \left[\int_{t_0}^{t \wedge \tau} f^2(Z_s) ds \right] \leq \frac{4(f^2)^*}{\delta_1^2} (t - t_0),$$

101 where $(f^2)^* = \max_{z_0 - \varepsilon_0 \leq z \leq z_0 + \varepsilon_0} f^2(z)$, and similarly $\mathbb{P} \left(\min_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1 \leq -\delta_1 \right) \leq \frac{4(f^2)^*}{\delta_1^2} (t -$
102 $t_0)$. Similar inequalities for the diffusion of the Z process give

$$103 \quad \mathbb{P} \left(\max_{t_0 \leq s \leq u \leq t} \frac{1}{\sqrt{\varepsilon}} \int_{s \wedge \tau}^{u \wedge \tau} \beta(Z_s) dB_s^2 \geq \delta_1 \right), \mathbb{P} \left(\min_{t_0 \leq s \leq u \leq t} \frac{1}{\sqrt{\varepsilon}} \int_{s \wedge \tau}^{u \wedge \tau} \beta(Z_s) dB_s^2 \leq -\delta_1 \right) \leq \frac{4(\beta^2)^*}{\varepsilon} (t - t_0),$$

104 where $(\beta^2)^* = \max_{z_0 - \varepsilon_0 \leq z \leq z_0 + \varepsilon_0} \beta^2(z)$.

106 Let also, $(f^2)_* = \min_{z_0 - \varepsilon_0 \leq z \leq z_0 + \varepsilon_0} f^2(z)$, and $\alpha^* = \max_{z_0 - \varepsilon_0 \leq z \leq z_0 + \varepsilon_0} |\alpha(z)|$. Thus define the set

107 $F(t) \subset \Omega$ as

$$\begin{aligned}
108 \quad F(t) &= \left\{ \max \left\{ e^{(\mu+r-\frac{(f^2)^*}{2})(t-t_0)+\max_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1} - 1, \right. \right. \\
109 \quad & \quad \left. 1 - e^{(\mu+r-\frac{(f^2)^*}{2})(t-t_0)+\min_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1}, \right. \\
110 \quad & \quad \left. \frac{1}{\varepsilon} \alpha^*(t-t_0) + \max_{t_0 \leq s \leq u \leq t} \frac{1}{\sqrt{\varepsilon}} \int_{s \wedge \tau}^{u \wedge \tau} \beta(Z_s) dB_s, \right. \\
111 \quad & \quad \left. - \frac{1}{\varepsilon} \alpha^*(t-t_0) + \min_{t_0 \leq s \leq u \leq t} \frac{1}{\sqrt{\varepsilon}} \int_{s \wedge \tau}^{u \wedge \tau} \beta(Z_s) dB_s \right\} \leq \min \left\{ \frac{\varepsilon_0}{2((|x_0| + |y_0|) \vee 1)}, 1 \right\}. \\
112
\end{aligned}$$

113 The previous argument shows that $\mathbb{P}(F(t)) \nearrow 1$ as $t \searrow t_0$. Using the fact that

$$\begin{aligned}
114 \quad X_t &= x_0 e^{r(t-t_0)} - \int_{t_0}^t e^{r(t-s)} C_s ds - (1+\lambda) \int_{t_0}^t e^{r(t-s)} dL_s + (1-\lambda) \int_{t_0}^t e^{r(t-s)} dM_s, \\
115 \quad Y_t &= y_0 e^{(\mu+r)(t-t_0) - \frac{1}{2} \int_{t_0}^t f^2(Z_s) ds + \int_{t_0}^t f(Z_s) dB_s^1} \\
116 \quad & \quad + \int_{t_0}^t e^{(\mu+r)(t-u) - \frac{1}{2} \int_u^t f^2(Z_s) ds + \int_u^t f(Z_s) dB_s^1} (dL_u - dM_u), \\
117
\end{aligned}$$

118 it follows that on $\{t \leq \tau\}$

$$\begin{aligned}
119 \quad |X_t - x_0| &\leq |x_0| \left(e^{r(t-t_0)} - 1 \right) + \int_{t_0}^t e^{r(t-s)} C_s ds + (1+\lambda) \int_{t_0}^t e^{r(t-s)} dL_s + (1-\lambda) \int_{t_0}^t e^{r(t-s)} dM_s, \\
120 \quad (1.2) \quad |Y_t - y_0| &\leq |y_0| \max \left\{ e^{(\mu+r-\frac{(f^2)^*}{2})(t-t_0)+\max_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1} - 1, \right. \\
121 \quad & \quad \left. 1 - e^{(\mu+r-\frac{(f^2)^*}{2})(t-t_0)+\min_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1} \right\} \\
122 \quad & \quad + \int_{t_0}^t e^{\left(\mu+r-\frac{(f^2)^*}{2} \right) (t-u) + \max_{t_0 \leq s \leq u \leq t} \int_{s \wedge \tau}^{u \wedge \tau} f(Z_s) dB_s^1} (L_t + M_t). \\
123
\end{aligned}$$

124 Next, since $Z_t - z_0 = \frac{1}{\varepsilon} \int_{t_0}^t \alpha(Z_s) ds + \frac{1}{\sqrt{\varepsilon}} \int_{t_0}^t \beta(Z_t) dB_s^2$, it follows $|Z_t - z_0| < \varepsilon_0$ on $F(t)$.

125 Assume also that $\varepsilon_0 > 0$ is small enough, so that $[0, T] \times \partial S \times \mathbb{R} \cap \partial H = \emptyset$. Then, similarly to
126 Corollary 3.7 of [4], we also have that ϕ_x is bounded on H . Then let $\psi > \max_H (\mathcal{U}')^{-1}(\phi_x)$, and define
127 $\varphi = \min_H \phi_x - \mathcal{U}'(\psi) > 0$, from the definition of ψ .

128 Then, by the convexity of \mathcal{U} , it follows that for any $C \geq 0$

$$129 \quad \tilde{\mathcal{U}}(\phi_x) + C\phi_x - \mathcal{U}(C) \geq \varphi(C - \psi)^+.$$

131 Define $\Xi = \delta_0 e^{-\nu(T-t_0)} (t \wedge \tau + L_{t \wedge \tau} + M_{t \wedge \tau}) + \int_{t_0}^{t \wedge \tau} e^{-\nu(s-t_0)} \left(\tilde{\mathcal{U}}(\phi_x) + C_s \phi_x - \mathcal{U}(C_s) \right) ds$ to be a ran-
132 dom variable.

133 Let $0 < t < \frac{\varepsilon_0}{16\psi}$ and small enough such that $e^{rt} < 2$ and $e^{rt} - 1 < \frac{\varepsilon_0}{2((|x_0| + |y_0|))}$. Then the set $F(t)$
134 consists of the following cases:

135 *Case I:* $\tau(\omega) \geq t$. In this case, $\Xi(\omega) \geq \delta_0 e^{-\nu(T-t_0)} t$.

136 *Case II:* $\tau(\omega) < t$. In this case, we either have $|X_\tau - x_0| \geq \varepsilon_0$, or $|Y_\tau - y_0| \geq \varepsilon_0$.

137 *Case II.a:* $\tau(\omega) < t$, and $|X_\tau - x_0| \geq \varepsilon_0$. In this case, we must have that either $(1+\lambda) \int_{t_0}^\tau e^{r(t-s)} dL_s + (1-$
138 $\lambda) \int_{t_0}^\tau e^{r(t-s)} dM_s \geq \frac{\varepsilon_0}{4}$ or $2 \int_{t_0}^\tau C_s ds \geq \frac{\varepsilon_0}{4}$.

139 In the former case,

$$140 \quad \Xi \geq \delta_0 e^{-\nu(T-t_0)} (L_{t \wedge \tau} + M_{t \wedge \tau}) \geq \delta_0 e^{-\nu(T-t_0)} \frac{\varepsilon_0}{4(1+\lambda) \wedge (1-\lambda)}. \\
141$$

142 In the latter case, by the choice of t

$$143 \quad \frac{\varepsilon_0}{8} \leq \int_{t_0}^{\tau} C_s ds \leq \psi t + \int_{t_0}^{\tau} (C_s - \psi)^+ ds \leq \frac{\varepsilon_0}{16} + \int_{t_0}^{\tau} (C_s - \psi)^+ ds.$$

144

145 Thus, $\Xi \geq e^{-\nu(T-t_0)} \frac{\varphi\varepsilon_0}{16}$.

146 *Case II.b:* $\tau(\omega) < t$, and $|Y_\tau - y_0| \geq \varepsilon_0$. In this case, on the set $F(t)$, from (1.2) we have that

$$147 \quad |Y_t - y_0| \leq \frac{\varepsilon_0}{2} + 2(L_t + M_t).$$

148

149 Thus, we must have that $L_\tau + M_\tau \geq \frac{\varepsilon_0}{4}$, and thus $\Xi \geq \delta_0 e^{-\nu(T-t_0)} \frac{\varepsilon_0}{4}$.

150 Together, on $F(t)$ we must have that $\Xi \geq \delta_0 e^{-\nu(T-t_0)} \left(t \wedge \frac{\varepsilon_0}{4(1+\lambda) \wedge (1-\lambda)} \wedge \frac{\varphi\varepsilon_0}{16} \wedge \frac{\varepsilon_0}{4} \right)$. We reach a con-
151 tradiction since,

$$152 \quad \kappa(t) \geq \mathbb{P}(F(t)) \delta_0 e^{-\nu(T-t_0)} \left(t \wedge \frac{\varepsilon_0}{4(1+\lambda) \wedge (1-\lambda)} \wedge \frac{\varphi\varepsilon_0}{16} \wedge \frac{\varepsilon_0}{4} \right) > 0. \quad \square$$

153

154 **References.**

- 155 [1] M. Bichuch and R. Sircar. Optimal investment with transaction costs and stochastic volatility part II: Finite
156 horizon. <http://ssrn.com/abstract=2659918>, 2015.
- 157 [2] D. Revuz and M. Yor. *Continuous martingales and Brownian motion*, volume 293. Springer Science & Business
158 Media, 2013.
- 159 [3] M. Shkolnikov, R. Sircar, and T. Zariphopoulou. Asymptotic analysis of forward performance processes in in-
160 complete markets and their ill-posed HJB equations. *SIAM Journal on Financial Mathematics*, 7(1):588–618,
161 2016.
- 162 [4] S. Shreve and H.M. Soner. Optimal investment and consumption with transaction costs. *Ann. Appl. Prob.*,
163 4:609–692, 1994.